

			Vendor Ranking		Page 1 of 1
Letting:	04201106	November 06, 2020 10:30 AM	Call Order: 003	Contract:	E4U82-R0
District:	District 4		Counties: PALM BEACH	Fed Aid No	: N/A
Contract Time:	365 CALENI	DAR DAYS		Project(s):	43291947201 (*)
Contract Desc:	PALM BEAC	CH COUNTY NORTH MOWIN	G		

Rank	vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTH FLORIDA BUSHOG SERVICE, INC.	Responsive	Winning bid	\$107,976.00	100.00%
2	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$149,016.00	138.01%
3	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Non-Winning Bid	\$220,440.00	204.16%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$286,080.00	264.95%
5	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$299,844.00	277.70%
6	AERO GROUNDTEK, LLC	Responsive	Non-Winning Bid	\$299,904.00	277.75%
7	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$315,230.16	291.94%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	11/24/20	BEGIN TIME:	10:30 AM
	END DATE:	12/01/20	END TIME:	10:30 AM



11/20/2020

Tabulation of Bids

Page 1 of 5

Letting:	04201106	November 06, 2020	Call Order:	003	Contract: E4U82-R0
District:	District 4		Counties:	PALM BEACH	Fed Aid No: N/A
Contract Time:	365 CALENE	DAR DAYS			Project(s): 43291947201 (*)

Contract Descr: PALM BEACH COUNTY NORTH MOWING

The work under this Contract consists of roadside mowing, slope mowing, litter removal and edging/sweeping along SR 710, SR 786 and SR 809 in Palm Beach County.

MAXIMUM LIMITING: The award amount and the contract performance bond shall be based on the maximum limiting budget amount of \$210,000.00 and not the contractor's bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

Line No / Item ID	Alternate Quantity Units	(1) SOUTH FLOF SERVIC		(2) CATES TRAC LL			PROPERTY SERVICE, INC.
() indicates item is bid as Lu		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(LARGE MACH	INE MOWING (AC					
0005 E104 4 1 MOWING (REGU MACHINE)	5,376.000 LAR/LARGE AC	4.00000	21,504.00	7.00000	37,632.00	15.00000	80,640.00
0010 E104 4 2 MOWING (SLOPE)	48.000 AC	11.00000	528.00	15.50000	744.00	50.00000	2,400.00
0015 E104 4 3 MOWING (SMALL MACHINE	72.000 E) AC	7.00000	504.00	13.50000	972.00	100.00000	7,200.00
0020 E104 4 4 MOWING (INTERMEDIATE I	84.000 MACHINE) AC	15.00000	1,260.00	17.50000	1,470.00	75.00000	6,300.00
0025 E110 30 LITTER REMOVAL	11,880.000 AC	7.00000	83,160.00	8.85000	105,138.00	10.00000	118,800.00
0030 E110 32 2 EDGING	204.000 MI	5.00000	1,020.00	15.00000	3,060.00	25.00000	5,100.00



Tabulation of Bids

Page 2 of 5

Letting:	04201106	November 06,	2020 C	all Order: 003		Contract:	E4U82-R0	
Line No / Ite Item Descri		e Quantity Units		ORIDA BUSHOG ICE, INC.		ACTOR SERVICE		IT PROPERTY NT SERVICE, INC.
() indicates ite	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ΓΙΟΝ: 0001	(LARGE MACH	IINE MOWING (A	AC				
0001 LARGE MACHINE Section Totals: MOWING (AC)				\$107,976.00		\$149,016.00		\$220,440.00

Contract Grand Totals:	\$107,976.00	\$149,016.00	220,440.00
------------------------	--------------	--------------	------------



Tabulation of Bids

Page 3 of 5

Letting	j: 042011	06 November 06	, 2020 Ca	Il Order: 003		Contract:	E4U82-R0	
	No / Item ID /	Alternate Quantity Units	(4) T & M LA SERVIO		(5) SUPERIOR L & LAW		(6) AERO GRO	OUNDTEK, LLC
() ina	licates item is bid as Lu		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(LARGE MAC	HINE MOWING (AC	C				
0005 MOWING MACHIN	- (5,376.000 LAR/LARGE AC	25.00000	134,400.00	22.00000	118,272.00	19.00000	102,144.00
0010 MOWING	E104 4 2 G (SLOPE)	48.000 AC	200.00000	9,600.00	88.00000	4,224.00	114.00000	5,472.00
0015 MOWING	E104 4 3 G (SMALL MACHINE	72.000 E) AC	50.00000	3,600.00	88.00000	6,336.00	74.00000	5,328.00
0020 MOWING	E104 4 4 G (INTERMEDIATE I	84.000 MACHINE) AC	20.00000	1,680.00	88.00000	7,392.00	74.00000	6,216.00
0025 LITTER	E110 30 REMOVAL	11,880.000 AC	11.00000	130,680.00	13.00000	154,440.00	13.60000	161,568.00
0030 EDGING	E110 32 2	204.000 MI	30.00000	6,120.00	45.00000	9,180.00	94.00000	19,176.00
	0001 LARGE MAC MOWING	HINE Section Totals: (AC)		\$286,080.00		\$299,844.00		\$299,904.00

Contract Grand Totals:

\$286,080.00

\$299,844.00

299,904.00



Tabulation of Bids

Page 4 of 5

Letting: 04201106 N	ovember 06,	2020 Call	Order: 003		Contract:	E4U82-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(7) ROGAR MAN CONSULTING C	OF FLORIDA				
() indicates item is bid as Lump Sum		LLC Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACH	INE MOWING (AC					
0005 E104 4 1 MOWING (REGULAR/LARC MACHINE)	5,376.000 GE AC	21.61000	116,175.36				
0010 E104 4 2 MOWING (SLOPE)	48.000 AC	101.00000	4,848.00				
0015 E104 4 3 MOWING (SMALL MACHINE)	72.000 AC	161.00000	11,592.00				
0020 E104 4 4 MOWING (INTERMEDIATE MACHINE	84.000) AC	101.00000	8,484.00				
0025 E110 30 LITTER REMOVAL	11,880.000 AC	13.61000	161,686.80				
0030 E110 32 2 EDGING	204.000 MI	61.00000	12,444.00				
0001 LARGE MACHINE Sec MOWING (AC)	ction Totals:		\$315,230.16				

MOWING (AC)

Contract Grand Totals:

\$315,230.16



Tabulation of Bids								
Letting:	04201106	November 06, 2020	Call Order: 003	Contract:	E4U82-R0			
		120.57(3), Florid required by law	o file a protest within the time pres da Statutes, or failure to post the k within the time allowed for filing a ceedings under chapter 120, Floric	bond or other security bond shall constitute				